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1. Let z = 12 + 5i. Find z̄, |z| and Arg(z).

2. Find Arg(z) where

z =
1− i

2− i
.

3. Verify that each of the two numbers z = −1± i satisfies the equation

z2 + 2z + 2 = 0.

4. Let w be a root of the equation z3 − 1 = 0. Find the value of∣∣2(w1997 + w2013 + w2047)− 3
∣∣ .

5. Find the set of complex numbers z such that

|z̄ + i|
|z + i|

=
√
2.

6. It is given that tan(π
6
) = 1√

3
. Show that

tan
( π

12

)
= 2−

√
3.

7. Find a, b ∈ R such that
1 +

√
3i = (a+ bi)2.

8. Show that coth(−x) = − coth(x).
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